
������������ �� ������ � ����� � ��� �����������

����������� � ��� ������������ ����

�������� �� �� ��������

�������� �� ��� �� ��� ��������������� �� �� ����������� �� �� ������������� �� ������� ������������

��� �� ������� �� ��� ������ � ��� ������� � ��������� �� �������� ��� �� ������ �� ������������ �������

��� �������� �� �� ����������� ��� ����� ����� �� � ������ �� �������� ����������� ������� ����������

������ ��� ��� ���������� �� ����������� �� ������������ � �� ��� ������ �� ���������

�������� �� �� ��� ���������� �� ������������ �� ��������� ���������������� ����� �� ����� �������

�� ������������ �� �������� �� �� ����������� ��������� �� �� ����� ����� ������� �� �������� ��������

���� ��� �������� ��� ������ ��� �� ����������� �� �������������� � �� ������������� ������� ����������

�� ��� �������� ���� ��� �� ������ � �� �������� �� �� ����������� ��� ������ ��������

�������� �� ���������� ��� �� ��������� ����������� �� ��� ���������� ������� �� �� ������ ��������

��� ��� ���� ��� �������� ���������������� ������ ������������

��� �� ���� ���� ��������� �� ��������� � ��� ����������� T = 6000 �

��� ��� ���� �� ����� ������������ � T = 100 �

��� ��� �������������� � T = 105 ��

�������� �� �� ��������� ������ ����� ������ ��� ���������� �� �� ��� �� �������� �������� �� �����

��������� ��� ������� E ≈ 6 × 10−6 ��� ����� ���� �� �������� �� �� ������� ��� ���� ���������� � ��

��� ���������� � �������� �� ���� ����� �����������

�������� �� �� ������ ����������� ���� �� ����� ���� �� ��������� ����� ����� �� ������ � �� ����

��� ������������� ������� �� ���� �������� �� �� ���������� ������������ �� ��� ���������� �� ���� ��

�� ������� �������� �� ����������� ��� �� ��� �� �������� �� ��������� ��������� �� ����������� ������� ��

���� �� ����� ������� � ����������

��� ���������� ��� ��� ������� �� �� ������ � ����� ��������� ��� ��� ��� ���������� � ���������� ����������

����� ����������� ������� ��� ����� ������� �� ������ ����������� ������������ ��� ������� ������ �

������ �� �� ��������� ����� �� ������ � ����� ���� ����� ���������� ����� �� �����

��� �� ��������� � ����� ����� ������� �������� � ���� ������� �� ����� �� ����� �� ������ � �������� ��

������ �� ������ �� ��� ������� �� ����� ���� � ������� ���������������� � �� ������ � ������ ���������

����� �� ������ � ����� ��� tmin = 276,45 � � tmax = 1719,55 � ���������������� ������� ���� � ���

��� ��� ������������ ����� �� �������� �� ����� �������� �� ��� ��������� �� �� �������� �� �� ������

������������ � �� ������� � �������� ��� ���������� �� ������ ����� �� �� ��������� � ����� �� ��� ��������

�� ��� ������������ ����� ��������� ��� 104 ��� ������� �� ����� ������������� � �� ��������� �� ��� ��

��������� �� �������� �� �� �� �������� �� ������ ������������ �� �������� ������� �� ����� �� ��� �����

��� ������� ��� �� �� �� ������ ������������� ������ ���� � ���

�������� �� ������ �� ��������� ��� ��������� ����� � ��� �� �������� �������� ����� ��� ��� �� ��

������� ������� �� ����� ����� R��

������� ������ ����� ������ � ��� ������������ ����



������������ �� ������ � ����� � ��� �����������

�������� �� �������� ��� �� �������� �� �� ��������� ����� ��� ������ � �2 �� ��������� �� �� ������

������ �� �� ���������� �� ����� ��� ������� �� ����������� ��� ��� L� ���������� ��� ���� ����� ����

�� ������ ������ ������� �� ����������� ���������� ����� �� �������� ����������� �������� ������ T�
eff ��

�������� �� ������� �� ���� ��� ������� ������������ �������� ��� �� ������� ����� �� �� ������ ��

�� ���� �� a = 3,84× 105 ��� � ��� �� ������� ������� �� �� ������ ����� ������� ����� �� ���� ��� ���

M�� �������� ��� �� ������� ������� �� �� ������ ��������� ��� ����� �� T� = 3,156× 107 � ����� �� ��

�������� ����� ��� ����

�������� �� �� ������ ��������� �� �� ��������� ����� ��������� �������� ��� �� �������� �� ������� ��

����� ������� �� ����������� ��� ������� ������� �� ��������� �� ���������� ��� �� ��������� ������ �������

�� ��������� ��� �� ����������� ������ �� �� ��������� �������� T = 140 � ������� ���� �� ������ ��

���������� ������� ��� �������� �������� �� �� ���������� ��� �������� ����� ��� ��� �������� �� ������ ���

������ �� ������� ��������

�������� ��� �� �������� ����� �� �� �������� α�������� �� π = 0,75” ����� �� �� ���������� ��

�������� ��������� �� ����� �� ������� ��������� ��� ��� ��������� �� ����������� �� �� ��������� ������

���� �� ���� �� ����� �� �� �������� �� ����� �� ���� �� �� ����

�������� ��� �� ������� ������� ��� �� ������� ������������� �� ����� ������� �� ��������� � �� ��

�� ���������� �� ����� �� ������� T = 10 ��� � ��� ���������� �� ��������� �� �� ���� ��� ��������

�������� ��� �� �������� �� �� ����� �������� �� ����� �α ��� ������� �� ��� ������ �� �� �����

�� ������� ��������������� � �� ���������� ����� ��� ������� �� ������� ��� n = 3 � n = 2� �� ������� �

λ = 659,0 ��� �������� ��� �� �� ����������� �� ������� � λ = 659,3 �� ���� ����� ����� ��� ����������

�� ����� ����� �������� � �� �������

�������� ��� ��� ������� ���������� ��� �������� �� ∼ 105 ��������� ������� ��� �� ������ ���������

����� ������� ��������� ��� ��������� �� ��������� �� ���� �� ������ ���� ����������� �� L = 1,05 ×
LV ega� ������ LV ega �� ����������� �� �� �������� ����� �� �� ������ �������� ��� ��� �� ���� �� ����

�� ��������� �� ��� �������� �� ������ ������������ F = 2,29 × 10−6 × FV ega� ������� �� ��������� �

��� ���� �������� ��� ���� �� ��������� � ���� �� ��� ����

�������� ��� �� �� ���� ��������� �� ��� ��� �� F = 0,011 × FV ega� � �� ������ ��� �� ��������

���������������� �������� �� ��� ��������� �� ����� � �� ������ ������� �� ���� �� ���� ������ ���������

�� ����������� �� �� �������� ���� �� LV ega = 51× L��

�������� ��� �� ��� ������ �� ��� ������� �� ����� �� ������ �� ��� �� ��������� � ��� ���������

R0 = 8 ��� �� �� ������� � �� ������ ��������� ��� ����� ����� ��������� ��������� ��� ��������� �������

�� ��� �� �−1� ������ �� ���� �� �� ��� ������� �� �� ������ ��� �� ����� ���� ����������� �� �� �������

������� ������ ����� ������ � ��� ������������ ����



������������ �� ������ � ����� � ��� �����������

�������� ��� �� �������� �� �� ��������� ���������� ��� ����� �� �������� �� ������� E ����������

�� �� ����� ��������� B ����� �� ������ � ��� ����������

νmax =
eB

4πmc

�
E

mc2

�2

,

����� m � e ��� �� ���� � �� ����� ��� �������� ���������������� � c �� �� ��������� �� �� ���� ���� ��

�������� ��� �������� ��� ��������� �� ����������� B ≈ 10−4 �� ������� �� ���������� ��� ������ ����

�� �������� ��� E = 109 ��� � ������� ���� ������������ �� ������ ��� ����� ��������� ���������� �� ���

��� ����� ��������� ������� �� �� ����� ����� �� ������������

�������� ��� �� ������� �� �������� ��� ��� �� �� ���� ���� � ��◦ �� �������� ���������� ��� ����

���� �� ������ ������ ���� ������������ �� ��� ������� ������� �� ������� ������� ��� ���� �������

������ �� ������� ������� ��������� ��� ������ ��� ���� �� ��� ��������� ����� ����� �� ������� �� ��������

��� ��� �� ���� ������� ���� �� ������� ������� ��� ������� ����� ���������� �� ���������� �� ����� �������

������ ��� ��� � ��� ����������

�������� ��� ���������� ��� α�������� �� ��� �������� �������� �� ���� ������� �� ��������� ��������

��� �� ���� �� ��������� �������� �� �� ������ �� 1,32× 10−11 ×F�� ������� �� ��������� �� ������� � ��

�������� �������������

�������� ��� ��� �������� ��� ������ �� ��� ������ ����� �� ���������� ������ µ = 0,11” ��−1�

��� ��������� ������ vr = 39,1 �� �−1� � ����� ��◦ ��� ����� �� ������������ ��� ���������� ��� �������

������� �� ��������� ��� ������ �� ���� � �� ������ �� ��������� �� ������ �� ��◦ �� �� ������

�������� ��� �� ������� �� ��������� �� ������� � �� ��� ������� ��� �� ��� �� ����� �������

��� �� ����� �� ��� ����� �� �� ���� �� ��������� �� �� ����� �� ������ �� ����◦ ����� �� �� ���������

�����������

�������� ��� ��������� �� ������� �������� ��� ������� �������� �� �������� �� � ������� ����

�������������� �������������� �� �������������� �����������

�� �������� �� �� N ��������� ���� ���� ��������� ��� �����

��� �� ���� m1� m2 � M � ����� ��� ���������� ��� �������

��� �� ������ �� ���� M � ���� ������� �� ������ �������

m1 , m2 � M � ������� �� �������� � �� ������� ��

���������� ������������� �� ������ ������ ����������� �� ��� ���

������ ��� ��� �������� ��������� �������� ������� ����� �����

���������� ������������ ����� ��������� �� ����������� ���������

����������

������� ������ ����� ������ � ��� ������������ ����


